ordson

ELECTRONICS SOLUTIONS

ASYMTEK SC-400 PreciseCoat® Jet Spares List

A range of spare parts are available to support Nordson Electronics Solutions products, keeping them running at
peak performance. Nearly all spare parts are sold as part of a spares kit, with a few exceptions.

How to Locate and Order Spare Parts

If you are referring to the User Manual to complete a procedure, you can search for a Kit Part Number or an
individual Part Description to identify the kit or individual part you need to complete the procedure.

If you have a part number, search the Lookup Part Number column in the tables below to identify whether the
part is sold in a kit or as an individual part. You will find it in the Spares Kit List table if it's sold in a kit. You will
find it in the Individual Part List table if it's sold as an individual part.

To locate a kit or individual part, do the following:

1. Download this file and open it in a browser such as Google Chrome.

2. Use your browser’s search feature to search for a Kit Part Number, individual Part Description, or part
number.

o Ifthe partis sold in a spares kit, refer to the corresponding columns in the Spares Kit List table
for details about the kit. Use the Kit Part Number to order the kit.

o Ifthe partis sold individually, refer to the corresponding column in the Individual Part List table
for details. Use the Lookup Part Number to order the part.

3. To request a quote, do the following:
o Click here.

o Locate your region and click the Email link.
A draft email addressed to the recipient you selected is displayed.

o Inthe Subject field, type New Request for Quote.
o Inthe body of the email, provide the following information:
= The Kit Part Number(s) for the kit(s) you want to order. And the quantity of each kit.

=  The Lookup Part Number(s) for the individual part(s) you want to order. And the
guantity of each part.

= The Ship To information: company name and complete shipping address.
®=  Your name, phone number, and email address.

o Click Send.

August 2024 1


https://www.nordson.com/contact-us/contact-electronics-solutions/02---main---order-spare-parts

ASYMTEK SC-400 PreciseCoat® Jet Spares List

Spares Kit List

All parts listed in the following table are sold only within kits, not individually. The information in the Lookup Part
Number column allows you to locate a part that you previously ordered separately but is now only available as
part of a kit. The Quantity column shows the quantity you will receive for each part in a kit.

KIT,START-UP,SC-400 7211542
CARD,TEST SELECT COAT 1 117678
SYSTEM(PKG OF 100)
BRUSH, TUBE, 1/4X6" 1 196627
BRUSH,TUBE,.02' 3 7203689
CLEANING BRUSH, DV-2000 5 387283
WRENCH,ALLEN,HEX,3MM 1 7257631
TOOL,SEAL REMOVAL,PLASTIC 1 392401
ASSY, NZLADAPTER,SS,SC-400/SC-280 1 6113932
TOOL,INSERTION,PACKING CART 1 7213391
WRENCH,ADJ,MODULE 2 901911
O RING,VITON,.2081D X .070W,BR, 1 940090
10409
O RING,VITON, .438X .563X.0063 1 940134
O RING,VITON,BLK .562X .688,10415 1 940157
O RING,VITON,.6761D X .070W,BR 1 940172
O-RING,P28 1 995471
CARTRIDGE,PACKING PROTECTIVE 1 1039171
COATING

KIT,SERVICE,SC-400 7211541
PISTON ASSEMBLY, H20 1 153022
CARTRIDGE,PACKING PROTECTIVE 1 1039171
COATING
O-RING, VITON, 208 ID X 0.70W, BR 1 940090
O-RING, VITON 1 940134
O-RING, VITON, BLK, .562 X .688 1 940157
O-RING 1 940172
O-RING, P28 1 995471
BEARING, THRUST, 15 X 28 MM 1 995476
NEEDLE SEAT, A7A-S, SUS 1 995565
SEAL, LOCK NUT 1 6100366

KIT,SERVICE,SC-400,CIRC,CONE 6139389
PISTON ASSEMBLY, H20 1 153022
CARTRIDGE,PACKING PROTECTIVE 1 1039171
COATING
O-RING, VITON, 208 ID X 0.70W, BR 1 940090
O-RING, VITON 1 940134
O-RING, VITON, BLK, .562 X .688 1 940157
O-RING 1 940172
O-RING, P28 1 995471
BEARING, THRUST, 15 X 28 MM 1 995476
SEAT,NDL,A7A-S,SUS,CRCL,CONE 1 6132407
SEAL, LOCK NUT 1 6100366

ASSY, NZL ADAPTER,SS,SC-400/SC-280 6113932
O-RING,FFKM,.070 ID X .04 W (001-1/2) 3 332496
NUT, RETAINING, NEEDLE ADAPTER 1 7208957
TOOL, O-RING, SC-400/SC-280 ADPT 1 7256095
NOZZLE ADAPTER, SS, SC-400 1 7256097

KIT,O0-RING,SC-400 6655247
O-RING, VITON, BLK, .562 X .688 2 940157
O-RING, P28 3 995471
O-RING, VITON 3 940134
O-RING 4 940172

August 2024 2



ASYMTEK SC-400 PreciseCoat® Jet Spares List

RETAINER,SEAT,SC400 6655248
RETAINER,SEAT,SC-400 1 7208163
SCREW, M4 X 0.7, SOCKET CAP,X8 4 388026
MNT BRACKET, W/SOLENOID,SC-400 6655249
BRACKET,MOUNTING,SC-400 1 7208954
FITTING,MALE, M7X1/4T 1 7209566
TUBING,170ID X .2500D,POLYURE 1 6126523
SCREW, M4 X 0.7 SOCKET X 16 2 388030
PLATE,MOUNTING,SC-400 1 7204128
SCREW, M4 X 0.7, SOCKET CAP,X8 2 388026
SCREW,M3.5X0.6X16 3 7209568
SCREW, M4 X 0.7, SOCKET X 12 2 388029
SILENCER,M7 1 7209565
SOLENOID ASSY,3WAY, 1/4-1/4 1 6114628
Individual Part List
The following items are sold individually.
ASSY, SC-400 APPLICATOR, CM 7217407
APPLICATOR, BASE, SC-400 7208952
ASSY, MICROADJ, SC-400 7211730
SEAL, LOCK NUT 6100366
O-RING VITON 208ID X 0.70W, BR 940090
PISTON ASSEMBLY, H20 153022
ELBOW,1/4TUBE X 1/8NPTM 194385
BODY, SC-400 6100365
FITTING,MALE 1/8 NPT,1/40D 198130
CARTRIDGE,PACKING PROTECTIVE COATING 1039171
NEEDLE SEAT,A7A-S, SUS 995565
ESR,APPLICATOR,NO RTD,CIRC,SC-400 7269681
ASSY,APPLICATOR,SC-400,CRCLT 7224646
BODY,SC-400,CRCLT 7220636
ASSY,SOLENOID,RTD,SC-400 7220628
ASSY,RTD,SC-400 7220629
RETAINING SEAT,SC-400,CRCLT 7220638
SEAT,NDL,A7A-S,SUS,CRCL,CONE 6132407
SEPARATOR,FLUID,SC-400,CRCLT,ESR 7220639
NEEDLE,16GA,1/2",SS(12) 387336
NEEDLE,18GA,1/2",SS(12) 381657
PKG,NEEDLE,20GA,1/2",SS(12) 6655438
NEEDLE,22GA,1/2",SS(12) 387339
NEEDLE,23GA,1/2",SS(12) 387340
NEEDLE,25GA, 1/2",SS(12) 387341
NEEDLE,18GA,1/4",SS(12) 387314
NEEDLE,20GA,1/4",SS(12) 387316
NEEDLE,21GA,1/4",SS(12) 387317
NEEDLE,22GA,1/4",SS(12) 387318
CARD,TEST SELECT COAT SYSTEM(PKG OF 100) 117678
August 2024 3



	ASYMTEK SC-400 PreciseCoat® Jet Spares List
	How to Locate and Order Spare Parts
	Spares Kit List
	Individual Part List


